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DOW30 18325.07 (+1.32%)

NASDAQ 521189 (+1.68%)

S&P500 2159.04 (+1.47%)

NIKKEI225 1667292 (-1.73%)

SHANGHAI 302198 (-1.85%)

FTSE100 670090 (-1.12%)

DAX30 10431.77 (-1.34%)

CAC40 443980 (-1.15%)
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o=Z/csty{ 11234 (+0.0003)

S/ 11442 (-0.91)

=hej/ol 101.82 (-0.88)

=E{/9|9  6.6908 (+0.0224)

o2 c/SH?{ 133339 (+0.00689)
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[AmI 199148 (-2.28%)
AL 652.91 (-1.82%)
|l/%a8{ 1113.50 (+15.10)
KTB 110.60 (-0.08)
LKTB 131.68 (-0.54)
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3y 1356% (+2.8bp)
Sy 1401% (+2.5bp)
10y 1.567% (+5.5bp)
CD 1.340% ( 0.0bp)

7. 2E-Ag AT E

3y -5.85bp (-0.55bp)
Sy -7.35bp (-1.25bp)
10y -16.95bp (-0.50bp)

8. IRS/CRS &gt
“IRS, €MD 5. X 98 322 7ted HIESs P TS RSE H|L 4T 25
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1Y 1.2975% (+1.25bp)
2Y  12950% (+2.25bp)
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3Y  12975% (+2.25bp)
5Y  1.3275% (+3.75bp)
7Y 13450% (+4.50bp)
10Y 1.3975% (+5.00bp)

192Y  -0.25 (+1.00bp)

2*3Y 0.25 (0.00bp)
2*5Y 3.25 (+1.50bp)
3*5Y 3.00 (+1.50bp)
5*7Y 1.75 (+0.75bp)
5*10Y 7.00 (+1.25bp)
*CRS =2

1Y 1.1950% (+0.50bp)
2Y 1.1100% ( 0.00bp)
3Y 1.0900% ( 0.00bp)
5Y 1.0350% ( 0.00bp)
7Y 0.9950%  (+0.50bp)
10Y 0.9900%  (+1.00bp)
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S2-8E AHMAYoY) (0] AF:6.1%, O|7:6.0%)

-8E AOjEHOf(YoY) (0| AH10.3%, O]|7X:10.2%)
£2l-82 CPI(MoM) (04| 4:0.0%, O]|7X:0.0%)

98 ZEW 47|7|CX|Z= (0| Ak:2.5, O|M:0.5)
A=2-82 CPI(YoY) (04| A+:0.7%, O|7:0.6%)
SH2-8Y £Z LR 2(YoY) (0]F:-7.5%)
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